EXAM MLC QUESTIONS OF THE WEEK

S. Broverman, 2007

Week of August 13/07

A fully discrete whole life policy with death benefit of $100,000 isissued to (35) .
The annual benefit premium is $1200, the single benefit premium is $20,000,
and the 30th year terminal reserve is $40,000.

Based on the same mortality table and interest rate as the first policy, another fully discrete
policy has a death benefit of $100,000 up to age 65 and $200,000 after age 65. The annual
benefit premium is $1200 payable for the first 30 years, and the benefit premium is () payable
fromage65on. Find Q.

The solution can be found below.



Week of August 13/07 - Solution

We are given the following:
100, 000 P55 = 1200 , 100,000A5; = 20,000 , 100, 000 30V35 = 40, 000 .

From P, = 4= weget d = W = .048 ,

and from ,,V, = Az weget Ag = (4)(1—.2)+.2= 52,

The second policy has the same benefit and premium for the first 30 years, so
it must have the same reserves as the first policy during the first 30 years, so
30V = 40,000 for the second policy. The prospective form of the reserve for
policy 2 at time30is 200,000A¢5 — Qs -

Weget dgs = 2% = 1252 = 10, so that

200,000A46; — Qigs = 200,000(.52) — 10Q = 40, 000 .

Solving for @ resultsin @ = 6400 .




